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Improper Integrals Practice (Relay Style)

Evaluate the integral.
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Evaluate the|integral.
2. If #1 diverges, replace ANS with 2.
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Evaluate the integral.
3. If #2 diverges, replace ANS with 1.
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If #5 converges, replace ANS with 0.
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Determine if the integral converges or diverges.

7. If #6 diverges, replace ANS with 0. I L ,.-® /
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Evaluate the integral.
8. If #7 diverges, replace ANS with 2.
If #7 converges, replace ANS with 1.
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Determine if/the integral converges or diverges. %+ x -.x _ 1
; 9 g 9 x| ——_ Corpares +o A+k Wxt) "X+
5 1If #4 diverges, replace ANS with 0. X +x x+1
oand [© BEL I 0% ar € anA
L\”» 2(ANS)-In2 x2+x+1 |
© X+ @ 4 =U~ "=y ®° kel o XA b 2oLl
‘S Xz oy 0% § T S] x*' Fanal ST xoox 0 Fextlos * ary?
> JA,\X“"H Se, QW-Los ond 5%
o“%b e L, IR Y
B R O e
oo = = Hnx|
= x +\ o b, o -0)
4 x+l . 4 §' = - Prcr
Svnee Oa)”' T xZrwrl ond rx?‘TAP e | D(M“Wl X;IZZLPW«/\.M' :&ozk &
Determine if the integral converges or diverges. ,
6. If #5 diverges, replace ANS with 1. )
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ANSWERS:
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